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Pre Algebm Ch. 5 Group Review

1) Simplify each expression by Combining Like Terms; distribute if necessary. Show supporting work.
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2) Simplify the following expressions using the Distributive Property, then Combining Like Terms if possible.
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3) Which is a better deal: five tulips for $3 or seven tulips for $4? Show support work to ilfustrate}vhy.
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4) Use the given figure in each of the following:

a) Wnt@algebralc expressions for the PERIMETER of the algebra tiles. L
One of your expressions should not be simplified, while the second expresswn “

" should be simplified (by combining like terms).

N:

Un-simplified: AT XA X AX+ Iﬂﬂ*lﬂ"" rl Simplified: HX + i

[ 4|+ ] ]
algebraic expressions for the AREA of the algebra tiles. One of your expressions should include

The LS awe Noured

b) Write(fwo)
parentheses, while the second expression should not.

Un-simplified: L’X + Ll)( + 5+Qj+ 5 Jf& Simplified:
PEMDAS

5) Simplify each using Order of Operations.
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6) Fill in the table with the missing form of the number.
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7) Triangles ABC and DEFar‘—// SICM.S ot FVGPO}:,? ona -
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a) By what ratio was triangle DEF enlarged to create triangle ABC? _ Y
' 2 IBm Bmy N
Ratio: blj{ 2 or T 16 1m ' ,
v E4m F
b) What is the ratio of the side lengths of triangle ABCfdtriangle DEF?

(This is the opposite of part a). B
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8) Identify the equation that could be used to calculate 45%;65300, then solve for x. / D'
. 200
15 _ x SES L] X _ 100 200 _
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9} A model train engine ig:iinches long. The real train engine is 42 fgeTiong. — LJZ(IZ f.h) - 50 L’

a) What is thefscale factorz in inches. 7 b) What is the length of the model, if the train
. : ' engine and three cars are 182 feet long?
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10) There are 36 green, 22 white, 30 purple and 14 blue gumballs in the gumball machine. Calculate each:

©

a) P(white gumball) b} P(green gumbali) c) P(white or green gumball}
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11) Amy reached into a bag, recorded the color of the tile she picked, returned the tile and then drew again.
Below is a list of the tiles she’s drawn so far. Based on this data answer the following:

EX HW+&_,QJ red, red, blue, yellow, blue, red, green, red, blue, green
PYObanﬂ N 8 & ' @ g B
a) P{next draw is red) b} P{next draw is not blue) c) If she draws 70 more times, how
- many times would you expect a

L{ - 2. P<3)£)9> green?
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12) Aiden has one bag with 6 blueberry and 4 raspberry gummy worms. He has another bag with 4 red and 8
black licorice sticks. If he takes one gummy worm and one licorice out of each bag, what is the probability that

he will get a raspberry gummy worm and a red licorice? . ]
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13) Lily only wears pants and sweatshirts to school, and she likes to choose her clothes at random. She has
" three blue, four brown, and five denim pants. Additionally, she has four white, two gray, and three black

sweatshirts. Use any method you choose to calculate the following probability: M H
A 2,5
P(brown pants with a white sweatshirt) = P{brown pants and white sweatshirt) pwbcoloi \1 Jﬂ e
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14} You're rolling a number cube {1-6} and flipping a fair coin.
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a) Make anioutcome gridifor this situation, then make a systematic list showing all possible outcomes,
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15) Simplify each of the following: /
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16) Th sum f three consecutlve*edde%mbers is 72. What are the numbers. Use the 5D process and the
table below to find your answer, then write an equation that represents the situation. Solve the equation to '

verify your correct answer.,

DETINLL ., SR=T D.ecider
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18) Tilly and Lilly worked together on a job. Tilly earned twice as much a L|IIy and together they earned

$510. How much did each person earn? Use the 5D process to solve this problem. Then write an equat!on
that represents this problern and soive it to verify your correct solution.
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